RACE 1 AUTO 1640 RANK

Only ranking. A: **9-1-7-8**

B: **6-2-5**

C: **4-3-10-11**

Top 4: **9-1-7-8**

Quinella:

Horses: 1,9 U-Horses:

Total: $2 \times 50 = 100$

Trifecta:

1:9

2: 1,7,8

3: 1,7,8

Total: 9 x 2 = 18

RACE 2 V4-2 AUTO 2140 **RANK**

Only ranking. A: **7**

B: **3-4-5-6-8-9-2-1**

C:

Top 4: **7-3-4-5**

Quinella:

Horses: 3, 4, 5 U-Horses: 7

Total: $3 \times 50 = 150$

Trifecta:

1: 7

2: 3, 4, 5

3: 3, 4, 5, 6, 8, 9

Total: 18 x 2 = 36

RACE 3 VOLT 2140 RANK

Only ranking. A: **7**

B: **3-1-8-10-5**

C: **9-2-6-4**

Top 4: **7-3-1-8**

Quinella:

Horses: 1,3 U-Horses: 7

Total: $2 \times 50 = 100$

Trifecta:

1: 7 2: 1,3

3: 1,3,8,10

Total: 8 x 2 = 16



RACE 4

V64-1

AUTO 1640

RANK

1 Rock The Sock had to run outside of the leader in the last run but was nevertheless able to disappear to an outstanding victory. The impression was clearly five-star and the six-year-old has shown that she can match tough company. She is quick out and if she manages to hold up the inside line, she should have the best chance to win this. **7 Tidore Degato** is fast from the start and is guaranteed a good position. She will defeat many opponents in the end. **3 Biscuit** was not at her best in the latest start. The stable seems confident in her, but she needs to show more on the track.

A: **1-7**

B: 3-4-5-6

C: 2

Top 4: **1-7-3-4**

Quinella:

Horses: 1,7 U-Horses:

Total: $2 \times 50 = 100$

Trifecta:

1: 1,7

2: 1,7

3: 2,3,4,5,6

Total: 20 x 2 = 40

RACE 5

V64-2

AUTO 1640

RANK

4 Knock Boots Mearas has made three starts for his new trainer Tony Jönsson and has done well in all of them. He still has not won after ten starts, but in terms of capacity he faces nice conditions and from post four he should find an early lead. If he will be allowed to dictate the pace for a while, the opponents will find it difficult to reach him on the short Jägersro home stretch. **11 I Am Fredrik** won after a good effort last time and is among the better in this race. Post eleven is, of course, poor over this short distance on the Jägersro oval, but with some racing luck, he is likely to be in the mix. **10 Nova** comes in top shape and can do it tough.

A: **4-11-10**

B: 6-2-7-9-12-8-1

C: **5-3**

Top 4: **4-11-10-6**

Quinella:

Horses: 10,11 U-Horses: 4

Total: $2 \times 50 = 100$

Trifecta:

1: 4

2: 10,11

3: 2,6,7,9,10,11

Total: 12 x 2 = 24



RACE 6

V64-3

VOLT 2140

RANK

5 Citrin Diablo has not been empty in the last two starts and has looked really good. The mare has only made five starts in her life, but is gifted and should be considered early in a race like this. If she could find the lead, which is not unthinkable, the Bold Eagle daughter should have a good chance to win this. **8 Ottens Korall** has done well at the end, but continues to run with the handbrake on. Interesting changes are now expected and should they have the right effect, she is good enough to fight for victory. **6 Reserva** faces ideal conditions and in the lead she is the horse to beat.

A: **5-8-6**

B: 7-1-2-13-3-11-9-4

C: **10-12**

Top 4: **5-8-6-7**

Quinella:

Horses: 2, 3, 4 U-Horses: 9

Total: $3 \times 10 = 30$

Trifecta:

1: 9

2: 2, 3, 4

3: 2, 3, 4, 6, 7, 11

Total: 15 x 2 = 30

RACE 7

V64-4

VOLT 2640

RANK

9 Mulberry has shown good skills for the new trainer after two starts. Most recently, in a tough V75 final, he was put in a fast finish. Here he steps down considerably in class and the long distance is rather an advantage (won 1/2). He faces perfect conditions money-wise and now tight starts for the first time is of course interesting. Banker! **7 Humanity Pellini** is capable and was clearly improved last time. Two races under his belt and a nice number over a distance he previously has won over. **1 Center Bus** comes from a strong first victory for Bergh. The horse has never won over this distance, but Robert Bergh has improved horses before and here they will go for the lead and take their chances.

A: 9

B: **7-1-12-4-13-8**

C: **5-6-11-10-3-2**

Top 4: **9-7-1-12**

Quinella:

Horses: 1,7,12 U-Horses: 9

Total: $3 \times 50 = 150$

Trifecta:

1:9

2: 1,7,12

3: 1,4,7,12

Total: 12 x 2 = 24



RACE 8

V64-5

AUTO 2140

RANK

2 Natorp Bo is a capable horse who was matched in tough races last year. He was poor in the comeback, but will be better this time. He can open fast from the start. The lead is not a must, although he should have a good chance to get there. He uses to perform well directly after a break (has won 4/9 after a layoff) **10 Festival Of Speed** has a good track record. Strong effort last time against easier opponents, but good enough to fight for victory here. **7 Crack Atout** is tough and in good shape.

A: **2-10**

B: 7-8-3-9-6-4

C: **5-1**

Top 4: **2-10-7-8**

Ouinella:

Horses: 10,2 U-Horses: 9

Total: 2 x 10 = 100

Trifecta:

1: 2,10 2: 2,10

3: 3,7,8,9

Total: 16 x 2 = 32

RACE 9

V64-6

AUTO **2140**

RANK

3 Nat King Cole had not raced for over six months before the last start. The five-year-old put in a strong effort as second and definitely needed that race under his belt. He is full of speed, quick from the start and with the last run under his belt, he should have a good chance of leading throughout. **10 Alvena Matteus** showed great skills when he scored three straight victories last autumn. He has been a non-starter before this, but is working very well and we expect a good performance. He starts directly behind the favorite and should reach a nice position. **2 Hilding Tif** is not bad at all. Was second behind Klondyke River in the last run and showed that the form is definitely on the way up.

A: **3**

B: 10-2-11-6-4-9-7-12-1

C: **5-8**

Top 4: **3-10-2-11**

Ouinella:

Horses: 2,6,10,11

U-Horses: 3

Total: 4 x 50 = 200

Trifecta:

1:3

2: 2,6.10,11

3: 2,6,10,11

Total: 16 x 2 = 32



TUESDAY, JANUARY 2



RACE 10	AUTO 2640	RANK
	7010 2070	

Only ranking.

A: **4-7**

B: **3-2**

C: **5-1-6-8-9-10**

Top 4: **4-7-3-2**

Quinella:

Horses: 4,7 U-Horses:

Total: 2 x 100 = 200

Trifecta:

1: 4,7

2: 4,7

3: 1,2,3,5,6

Total: 20 x 2 = 40